

$$E^{-2} = 1/(12.25)$$

Disability is a fraction of Ability. Disability is exponentially negative.

$$E = 3.5$$

Normality is not of this Density. E is a variable, but in this case, defined,

$$3.5$$

$$E^2 = 12.25$$

Ability is defined, thus, by the variable E. Ability is Exponentially Positive.

$$1 \geq X > 0$$

Ambition is defined by X.

$$1 \geq Y > 0$$

Faith is defined by Y.

$$Z \geq 2$$

Achievement is defined by Z.

If Y = 0, there is lack of Faith, E cannot evolve, and Z cannot be established.

If Y = 1, E and Z can evolve and establish at the velocity of material vision.

If X = 0, there is no Ambition.

If X = 1, Ambition is Whole, and X + Y = Z, or 1 + 1 = 2

1 = 1/1, 12.25/12.25 = 1, 1 is Whole. X and Y are 1 which lead to Z. Z is 2, but in order to continue, the cycle must rebirth. Z is like 1. 2/2 is 2 of 2, but also is 2 divided by 2 equivalent to 1.

Due to the Reign of Infinity, Ambition requires Faith to Achieve.

You read this with Faith that these words are written here on either paper or electronic media. Now, at the last sentence, you are present in a temporal matrix between 0 and 3 XYEZ (*Ambitious Faith Abilifies Achievement*).